ﬂh Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)
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Which choice has a 8 with the value of 800 or 8 hundreds?
A. 3,859 B. 89,217 C. 138 D. 8,936

Which choice has a 9 with the value of 9,000 or 9 thousands?
A. 93,618 B. 3,659 C. 39,782 D. 98,316

Which choice has a 1 with the value of 10,000 or 1 ten thousand?
A. 437,681 B. 248,931 C. 167,259 D. 815,374

Which choice has a2 with the value of 20 or 2 tens?
A. 32 B. 236 C.284 D.25

Which choice has a 7 with the value of 700 or 7 hundreds?
A.9573 B. 791 C.2,176 D. 637

Which choice has a2 with the value of 2,000 or 2 thousands?
A. 17,392 B. 43,261 C.52,736 D. 94,325

Which choice has a9 with the value of 90,000 or 9 ten thousands?
A. 47,219 B. 48,951 C. 9,561,487 D. 192,765

Which choice has a4 with the value of 40 or 4 tens?
A. 649 B. 514 C.431 D. 64

Which choice has a4 with the value of 400 or 4 hundreds?
A. 3,642 B. 743 C. 416 D. 934

Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 82,763 B. 3,486 C. 6,943 D. 654,928

Which choice has a 1 with the value of 10,000 or 1 ten thousand?
A. 521,986 B. 165,498 C. 951,786 D. 319,854

Which choice has a1 with the value of 10 or 1 ten?
A.1928 B. 716 C. 138 D. 139

Answers

10.
11.

12.
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Answer Key

Solve each problem.

1)

2)

3)

4)
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7)

8)

9)

10)

11)
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Which choice has a 8 with the value of 800 or 8 hundreds?
A. 3,859 B. 89,217 C. 138 D. 8,936

Which choice has a 9 with the value of 9,000 or 9 thousands?
A. 93,618 B. 3,659 C. 39,782 D. 98,316

Which choice has a 1 with the value of 10,000 or 1 ten thousand?
A. 437,681 B. 248,931 C. 167,259 D. 815,374

Which choice has a2 with the value of 20 or 2 tens?
A. 32 B. 236 C.284 D.25

Which choice has a 7 with the value of 700 or 7 hundreds?
A.9573 B. 791 C.2,176 D. 637

Which choice has a2 with the value of 2,000 or 2 thousands?
A. 17,392 B. 43,261 C.52,736 D. 94,325

Which choice has a9 with the value of 90,000 or 9 ten thousands?
A. 47,219 B. 48,951 C. 9,561,487 D. 192,765

Which choice has a4 with the value of 40 or 4 tens?
A. 649 B. 514 C.431 D. 64

Which choice has a4 with the value of 400 or 4 hundreds?
A. 3,642 B. 743 C. 416 D. 934

Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 82,763 B. 3,486 C. 6,943 D. 654,928

Which choice has a 1 with the value of 10,000 or 1 ten thousand?
A. 521,986 B. 165,498 C. 951,786 D. 319,854

Which choice has a1 with the value of 10 or 1 ten?
A.1928 B. 716 C. 138 D. 139

Answers
. A
. _C
3 D
4 D
5 B
6 _C
7. D
g. A
9 C
0_ C
u_ D
1. B
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